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HIO|Ef: 413 922  HPC: 38%| 662 Al 9% 252  ZFA: 882 183
NO | T+& L= | = ;_1 i mgH | 18 | 28 | 38 | 48 | 58 | 6 | 72 | 8 | 9¥ 118 | 12¥
1 71¢71% 9HolH 24 3 | 1] 450,000
2 7|7tk Bt 3 | 2 | 450,000
3 JIE2EY MY 3 | 3| 450,000 ]
4 G|o|Eapst ofsf 1|2 | 150,000 ]
5 HIO|Ef7|8 4l R Olo|" &= Z=MA | 1|3 | 150,000
6 HO|E{7|Eh MAAZFD 7|2 =4 1] 3| 150,000
7 HIOIE7|E 7|=Ate EtEd 2487t 2 | 3 ] 300,000
8 HO|2 &|GH[0[H 24 3| 1 [ 450,000
9 SOolE =4 S AlZet 7|= 3 | 2| 450,000
10 |DATA| £0tE L§ SH0E =4 3 | 2 | 450,000 ]
11 i R e k= 3 | 3| 450,000
12 MsH SIEoEH 24 3 | 1| 450,000
13 HE2F 4HoH =4 3 | 2 | 450,000
14 EfS 2(Tableau) & H|O|E| A[Z%t 1] 2| 150,000
15 £35{ Map T=7t &Y 3 | 2| 450,000
16 Open SW & AZY 24 I THA=t 2 | 2| 300,000 ]
17 R&D 7|2 X AISIS 2[5t AISZ=AL 1|2 | 150,000
18 R 28 GIOoE 24 3 | 3] 450,000 ]
19 R 28 FHH0E HERIT 24 3 TRt 2 | 2 | 300,000 ] -
20 2|52 (Linux) 114 B8 % I c
>1 HES %= 22| == I > | [ EEE
22 wHAFE E8(6=7I) 114 28 25 15 -
3| [ceo 2[2] == R | mEE
24 CUDA 24| R=E 12 - 01 [ >3 o N
25 | | ioc | Fortran 24| BE 23 R > I 5> 9/30-10/1
26 Hybrid 24| BB 1314 | R B 7 2>
27 kK Z29C 28 32| == H -
28 MPI(X ) 24| BB 2 I 7
29 MPI(Z2) 1]2] = I : e
30 OpenMP(X3) 24| BB 189 [l > R >3
31 OpenMP(Z2) 112 22 I :
32 B2 d(Deep Learning) CIOIE &4 3 | 4 | 450,000 ]
33 | Al |QISXI5 7l B8 2 | 2| 300,000 ]
34 11O | M (Python) HIOIE| &4 3 | 3| 450,000
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